Conversation Russian Through Propaganda, Book 2

Day 53 verb review: n endings

1. U and E verbs

Like yesterday, take turns with a partner: give them the infinitive, and check as they run through the conjugated forms.

IMPORTANT: Only THREE types tqke these endings, in the whole language! We've seen the two most common already: U verbs (the
second most common type, after AVl verbs) and E verbs, which work exactly like V1 verbs.

We’ll do a quick preview of the third and final type — which we’ll call XKA verbs (say “zhah verbs”) — at the bottom of the page.

REMEMBER: these two types work very much alike. Recall that AV verbs are the most common type of verb in Russian.

a) in these examples, a mutation is possible — and so occurs (in the s form only)

neretb £ fly niedy, NeTullb, NETUT, IETUM, NETUTE, NETAT
nnaTturtb /s pay nnady, Nnatvilb, NAaTUT, NNaTtuM, NaaTuTe, NaaTaT
BuaeTb E see BWKY, BUOVILLb, BUAMT, BUOVM, BUANTE, BUOST
cupeTtb Eed be sitting CWKY, CUONLLb, CUAUT, CUOUM, CUOUTE, CUOAT
XxoauTb l/shift go (foot) XOXKY, XOAULLb, XOONT, XOOWUM, XOOUTE, XOOAT
e3nuTb /1 go (vehicle) e3>y, e30VLlb, e301T, e301M, e3aMTe, e304T
npurnacutb Ve invite npuriaLly, NpUriacullb, MPUIrNacuT, MPUrIacuM, NpurnacuTe, Npurnacat
yncTuTtb /1 clean YULLLY, YUCTULLb, YACTUT, YUCTUM, YACTUTE, YACTAT

b) in these examples, a labial mutation is possible — and so occurs (in the a form only)

noo6urtb /1 love Nobt, NOdVLLL, NOUT, NLOUM, NtOUTE, NOAT
Kynutb /] buy KM, KYMALLb, KYMAT, KYMAM, KYnUTe, Kynat
roToButb /1 prepare FOTOBJ/IHO, FOTOBWLLbL, FOTOBWT, FOTOBUM, FOTOBUTE, FOTOBAT
ocTaBuTb /1 leave OCTaB/o, OCTaBMLLb, OCTaBWT, OCTaBWM, OCTaBUTE, OCTaBAT
HpaBuTbcH /1 be pleasing HPAaB/OCh, HPABULLILCS, HPABUTCS, HPABUMCS, HPABUTECH, HPABATCS

c) in these examples, no mutation is possible — ergo, there is none! Duh!

rosoputb ¢ talk FOBOPIO, FOBOPYILLIb, FOBOPUT, FOBOPUM, FOBOPUTE, FOBOPST
MOMHUTD /] remember MOMHHO, MOMHULLIb, MOMHUT, MOMHMM, MOMHUTE, MOMHAT
nonyumtb 15" receive nony4y, NOayYMLLb, NOYYAT, MOYHMM, NOyYMTE, NOyHaT
yuutbes Vst be a student  y4yCb, yUMLLIbLCS, YHUTCH, YHUMCS, YUUTECH, yHaTCs
pewnTb [/1ed solve, decide  peLly, pelniib, PELLUT, PELLMM, PELUUTE, peLaT
ropetb e be burning rOpto, MOpPMULLIb, FOPUT, FOPUM, FOPUTE, ropgaT
BKKOUMUTDB V1°9  turn on BKJTOYY, BKJTKOUULLIb, BKITKOUUT, BKITHOUUM, BKIIKOUUTE, BKIKOHAT
BbIKOUMTb /1 turn off BbIK/THO4Y, BbIK/TFOUMLLb, BBIKITOUAT, BbIKITKOUMM, BbIKITKOUMTE, BbIKIHOYAT

2. Preview of XKA verbs

It's worth glancing at the third and ﬁna/vverb type that takes “n” endings. In the name of this type (purely conventional, of course), the X can
stand for any hushing (X 4 LU LL}) or U. Note the obvious point of confusion: these do take “n” endings despite having infiinitives in -atb!

m nexatb YKA®™ be lying down  nexy, nexullb, NeXXUT, NEXXUM, NTeXXUTE, nexar
aepxxartb JKAST  hold OEePXKY, OePXULLb, OEPXUT, ASPXUM, OSPXUTE, Aep)KaT

cToaTh YKA®™ be standing CTOK, CTOMLLb, CTOUT, CTOUM, CTOUTE, CTOAT



